
Name%%_________________________________________________%
%

6th$Grade$3rd$Trimester$Test$
%
Use%the%stem%and%leaf%plot%below%for%questions%183.%
%
1.%

%
 
A)  15 
B)  53 
C)  12 
D)  11 
 
2.  What is the range of the data shown on the stem and leaf 
plot? 
 
A)  89 
B)  53 
C)  36 
D)  71 
 
3.  What is the mode of the data shown on the stem and leaf 
plot? 
 
A)  53 and 89 
B)  71 
C)  55 
D)  85 and 62 
 



4.   

   

 
 
 
What number needs to be filled in in the graph for the 21-25? 
 
A)  1 
B)  2 
C)  3 
D)  5 
 
 
 
 
 



5.   

 

 
 
Using the data above, how many x’s would you have to put 
above the number 3? 
 
A)   6 
B)   3 
C)  10 
D)   2 
 



6.   

 

 
Using to the table above, how X’s would appear above the 
number 7? 
 
A)  5 
B)  9 
C)  6 
D)  7 



 
Use the line plot below for questions 7-8. 
 
7.   

 
 
 
A)  2 
B)  10 
C)  4 
D)  1 
 
8.  How many observations are on the line plot? 
 
A)  2 
B) 10 
C)  4 
D) 1 
 



9.   

 
 
Which number is missing? 
 
A)  3 
B)  5 
C)  4 
D)  2 
 
 
 
 
 
 



10.  Here are the results of Bill’s last 10 math tests: 
 
87, 84, 75, 83, 75, 76, 77, 83, 75, 85 
 
What is the median of Bill’s test scores? 
 
A)  80 
B)  75.5 
C)  12 
D)  75 
 
11. 

 
  What is the median of this data? 
 
A)  12 
B)  90 
C)  27 
D)  41 
 
 
 
 
 
 
 
 



12.  Christopher has the following data: 
 
 
 14 10 x 19 25 
 
If the median is 14, which number could x be? 
 
A)  7 
B)  20 
C)  15 
D)  19 
 
13.  This equation shows how Felix's calorie consumption is 
related to the number of snacks he eats. 

 
c = 20s 

 
The variable s represents the number of snacks he eats, and the 
variable c represents the total calories he consumes. After eating 
a total of 1 snack, how many calories will Felix have consumed in 
all?  
 
A) 32  
B) 1 
C) 21 
D) 20 
 
14.  This equation shows how the total number of souvenirs 
Caleb buys is related to the number of days he spends on 
vacation. 

s = 7d 
 

The variable d represents the number of days he spends on 
vacation, and the variable s represents the total number of 
souvenirs he buys. After 2 days of vacation, how many total 
souvenirs will Caleb have bought?  
 
A) 9 
B) 4 
C) 14 
D) 1 



15.  This equation shows how the total number of books Eve has 
read depends on the number of months she has been part of a 
book club. 

b = 2m 
 

The variable m represents the number of months she has been a 
member of the book club, and the variable b represents the 
number of books that she has read. After belonging to the book 
club for 5 months, how many books will Eve have read in all?  
 
A)  0  
B)  22 
C)  10 
D)  12 
 
16. 
 
 
 
 
 
A)  0.77 
B)  0.76  
C)  0.97 
D)  0.96 
 
 
17. 
 
 
 
 
 
 
A)  0.20 
B)  2 
C)  20 
D)  9 
 
 
 



 
18. 
 
 
 
 
 
 
A)   73.6 
B)  .736 
C)  736 
D)  7.36 
 
19.  Evaluate. 
 

24 =  
 
A)  14 
B) 128 
C) 16 
D) 8 
 
20.  What is 4 to the power of 3? 
 
A)  34 
B)  43 
C)  16 
D)  42 
 
 
21.  Evaluate: 
 

105 

 
A)  1,000,000 
B)  10,000 
C)  50 
D)  100,000 
%



22.  At 1:00 PM the temperature was -10°F. At 7:00 PM the 
temperature was 2°F. How much did the temperature rise?  
 
A)  4 ° 
B)  12 ° 
C)  24 ° 
D)  8 ° 
 
 
23.  At 1:00 PM the temperature was 60 degrees Fahrenheit, at 
4:00 PM the temperature was 52 degrees Fahrenheit, and at 
11:00 PM the temperature was 58 degrees Fahrenheit. When was 
it warmest?  
 
A)  1:00 PM 
B)  4:00 PM 
C)  11:00 PM 
D)  4:00 AM 
 
24.  An airplane is flying at a height of 1,000 feet above sea level 
and a submarine is 200 feet below sea level.  What is the total 
distance between the airplane and the submarine? 
 
A)  800 feet 
B)  1,200 feet 
C)  -800 feet 
D)  -1200 feet 
 
25.  Find the value of the expression y – 9 if y = 16. 
 
A)  25 
B) -25 
C)  -7 
D)  7 
 
 
 
 
 



26.  Isabella had c CDs until she won 17 more in a contest. 
Choose the expression that shows how many CDs Isabella has 
now.  
 
A)  17 
B)  17 – c 
C)  c + 17 
D) c 
 
27.  Find the value of the expression v – 5.4 if v = 10.  
 
A)  4.6 
B)  6.4 
C)  -4.6 
D)  15.4 
 
28. 

 
A)  0.5 
B)  0.7 
C)  0.6 
D)  7 
 
29. 

 
What number is missing from the number line above? 
A)  1 
B)  0.1 
C)  -1 
D)  -0.1 
 
 
 



30. 

 
 
A)  0.2 
B)  2.2 
C)  2.3 
D)  2 
 
31.  What is the greatest common factor of 12 and 15? 
 
A)  12  
B)  15 
C)  2 
D)  3 
 
32.  What is the greatest common factor of 15 and 3? 
 
A)  3 
B)  1 
C)  5 
D)  15 
%
%
33.  What is the greatest common factor of 8 and 15? 
 
A)  120 
B)  1 
C)  4 
D)  8 
 
34.  What is the absolute value of -6? 
 
A)  6 
B) -6 
C)  0 
D)  66 
 



 
35.  What is | -4.66 |? 
 
A)  -4.66 
B)   4.6 
C)   4.66 
D)   0 
 
36.  Put these numbers in order from greatest to least, using 
the formats given. 

 
0.8        0.2        0.7 

 
A)  0.2, 0.8, 0.7 
B)  0.8, 0.7, 0.2 
C)  0.7, 0.8, 0.2 
D)  0.2, 0.7, 0.8 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



For questions 37 - 38 use the following coordinate grid. 
 
37.  What is the ordered pair for point K? 

 
 
A)  (3, 5) 
B)  (3, -5) 
C)  (-5, 3) 
D)  (-5, -3) 
 
 
38.  What is the ordered pair for point I? 
 
A) (-0, -1.5) 
B) (0, 1.5) 
C)  (0, -1.5) 
D)  (-1.5, 0) 
 
 



 
 
39.  What is the ordered pair for point T? 
 
A)  (-2.5, 3.5) 
B)  (3.5, -2.5) 
C)  (3, -3) 
D)  (-3,3) 
 
40.  Simplify the expression:  2(5 + 8z) 
 
A)  13z 
B)  18z 
C)  25 + 28z 
D)  10 + 16z 
 
 



41.  Simplify the expression:    7(6f + 7) 
 
A)  42f + 49 
B)  6f + 7 
C)  76f + 77 
D)  49f + 56 
 
42.  Simplify the expression:   6(3m – 5) 
 
A)  63m - 65 
B)  18m - 30 
C)  18m - 5 
D)  3m - 5 
 
 
43. 
 
 
 
 
 
A)  1/36  B)  9/4  C)  4/9  D)  1/13 
 
44. 

 
 
A)  2/3  B)  1/6  C)  3/2  D)  1/5 

 
 
45. 
What is the reciprocal of 1/4? 
 
A)  4/1  B)  ¼   C)  0   D)  10/40 


